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Example from our system
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" macdCode-"EVN'>

<tomplteld extension="2014-06-09" oot=2.16.840.
i ingnois Aciv Conca Act >

<tamplted oxenion="2014-12-01° 00t="2.16.040.1.113883.10.20.24.3.121°>

< 1ot 150bA10-311c-0134-feca- 005036847002/ >

ot code="CONC diplaylari=-Concen” Coteoyem="2.16.840.1.113803.5.6">

<stauscode ode=-activel>
Ciectvarines

1138531020223

2015050108000/

"o Aimbte: ducharge et -
<high vale="20150508101500')>

<feectueTimes

<entryReationship ypeCode="SUBY'>

S Sbservaton Gaéicods-"OBS" meadCode="EVN'>

i briam overvation tempiats -

<templtld extenon-2014-06-09° ot
<tampltld exterion="2014-12-01" root="2.16.840.1.113883.10.20.24.3.11>
Cid ertanon. 570 b082636239045656b330" 00t 1.3.6.14.1115"
<cod code="29308-4" spaylame="dlagnosis codetamiana="LOIN”codaSystem
CiextDiagnosis, Active: Hemorthagic Stroke./ext>

216.800.1,113833.10.20.22.047>

16.840.1.113083.6.17/>

Satiiscoss code- completed/>
Seftectvarimes
20150301080000'/>
e dacharge datetime >
2015050810150

<atectveTimes

Sprontycod code="63161005" codeSystem="2.16.840.1. 113003696 stc 131065 H="2.16.040.1. 199833117171 14"/>

- <l Code="276278003" codeStem-"2.16.030.1.113683.6.96 e lse="2.16,830.1, 1139833117171 317" xype
<orgnaestsDisgnosis, Active: Hemerthagic iroke:crgilTect>

Ciraniton code 430" CofeS e 2.16,640.1.113883.6.103° >
<iransiion code="T60.10" codeSydem="216.840.1.113883.6.90'/>
<fvat>
<fansercations
</eniyRelsionsip>
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<entry>

<act classCode="ACT" moodCode="EVN'>
<t-problem Concern Act Templater->
<emplateld extension="2014-06-09" r001="2.16.840.1.113883.10.20.22.4.3"/>
<l~Diagnosis Acive Concern Act Template—>

emplateld extension="2014-12-01" 1001="2.16.640.1.113883.10.20.24.3.121')>
<id extension="B090" ro0t="1.3.6.14.122812.21.1")>
<code code="CONC" codeSysten="2.16.840.1.113883.5.6'/>
<statusCode code="active’/>
<effectieTime xiztype="TVL_TS">
0160322000000/>
<high value="20160825150200"/>
<JeffectveTine>
<entryRelationship typeCode="SUBD'>

<templateld extension="2014-06-09" ro0t="2.16.840.1.113
<t-Diagnosis >

<tomplateld extension="2014-12-01" 1001="2.16.840.1.113

<id extension="B090 r00t="1.3.6.1.4.1.22812.21.1°)>

<cade code="29308-4" isplaytam 7

<text> Diagnosis, Active: Hemorrhagic Stroke (Hemorrhagic Stroke Grouping Value Set (Codelist=2.16.840.1.113883.3.117.1.7.1.212))</text>

<statusCode code="completed/>

<effectieTime xiztype="TVL_T5">

9.1020.2244°>

111020203117

<lon value="20160822000000°/ >
<High value="20160825150200"/>
<JeffectveTine>
<prioiyCode code="63161005" dsplayllame="63161005" codeSystemiame="SNOMEDCT" codeSysten="2.16.840.1.113883.6.96° dicalueSet="2.16.840.1.113883.3.117.1.7.1.14'/>
<value code="431" codeSystemName="1CDO" codeSystem="2.16.640.1.113883.6.103" i type="CD" stc:valueSet="2.16.840.1.113883.3.117.1.7.1. 212/
</observation>
</entryRelatonship>
<fac>

<entry>





